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For Monday (Dec 3), watch the videos:
e Applied optimization: 6.1, 6.2

For Wednesday (Dec 5), watch the videos:
e Concavity: 6.11, 6.12
e Asymptotes: TBA

For Thursday (Dec 6), watch the videos:
e Curve sketching: TBA
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Computations

Compute:

o lim x2+2x -6 @ lim(sinx) (e’ — 1)
x=2 x2+3x - 10

o lim ¢ _ cos x 0 lim x sin 2
x~0  xsinx e X

ehmx_z 9}}_{2"005%
x—o00 eX

o lim ¢ o lim [(ln x) tan H]
x—o00 X — =X x—1 2
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Limits from graphs

Compute:

. H (x) F71(x)
lim im ———2
ox1—>0H(2+3X)—1 9%61_)2 x—-2

Yy ¥y
By S () —
=111 —
1<
t x = F(x
,
1
| / x
/ o
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Backwards LHépital

Construct a polynomial P such that

P
lim—2  _1
x—»leX¥—e-Xx e
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Proving something is an indeterminate form

© 2 Provethat Ve € R, there exist functions f and g s.t.

' _ ‘ 3 . fx)
£1_r)101 f(x)=0, E}E} 8(x)=0, %cl—rfol g(x) ‘
b Find f and g such that
%CII)% f(x)=0, %(1513 g(x) =0, 1x1£13 —'g((;c)) = 400

¢ Same as above with —co.
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Proving something is an indeterminate form

© 2 Provethat Ve € R, there exist functions f and g s.t.

' _ ‘ 3 . fx)
£1_r)101 f(x)=0, E}E} 8(x)=0, %cl—rfol g(x) ‘
b Find f and g such that
%CII)% f(x)=0, %(1513 g(x) =0, 1x1£13 —'g((;c)) = 400

¢ Same as above with —co.

® Same for 3, 0- 00, and co — 0.
0
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Infinity minus infinity

Compute:
O lim [cscx _ cotx]
x—0 X X

® lim [In(x + 2) — In(3x + 4)]

elim[ 2 ! ]

=l lxz2—-1 x-1

O lim [\/x2+3x— \/x2—3x]

X——00
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Exponential indeterminate forms

Compute:
O lim (1 +2 sin(3x)]* ¢

o (£22)°

Xx—o00 \ X —

©® lim x*

x—0t

S1n x ) x2
X

o lim<

x—0
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